S5 A=E:3 i 1A=E:s

A=l B=2 (C=5 D=6 ' 12H19H

= A HIE (=) . LA ()

1B W T8 ¥

2 50 28 5 1 6 5

3.8991

M (2)6 49  10EK g EDR(RE—)

426 58 50 28 9

5 366 29 6> = = y

6.16 74

7.682 311

8.5.1 9.15 26
—1A 2B 3C 6C | =B 2B 3A 4B 5C
Zx 2x 3V Zax 2V 3x 4N sV
.1.1600 520 1676 80 32 8976  : P.1.3200 46 90 350 70 1

2305 6120 225 100 127

3122 60 333 . 31440 377 438
.1 N

5 75.1.(1)4.245.5=9.7(7L)

2. EmE  KITIEJEK : (6+44)x2=20( 2K ) ) o
2)10-4.2=5.8( 7

E BRI : 5x4=20( K ) 10-4.2=5.8(C
2.26x3-36=42(A)

7N\ 1(136:3=12( ) 3.476-167-204=105(#F )
4.(1)4 X
()M EF 8:00 2l FAF 4:00 2258 8 B,
250x(8-1)=1750(A>)
L 5.(1)455x3=1365(T.)
5.(1)18-2=16(T),16-2x3=10(T), 10+5= § (2)455+48+125=628(7T),628<700, Kl It
2(F 1)  PhRAR
(2)(16-4):3=4(F %) ORI 120 % /40 %

(2)12x4+5=53(7T)
2.8+4x2=16(K)
3.300-78x3=66( % )
4.1.7+1.7+10.6=14(T)

F8M

' - ®
M. = E AR 8\ 32) 13 1R
OEHEE P FH20 37 14 28 65 40

BAEE LN
—95 8 39 32 £ 462 488 651 633
97 54 77 106 F5K
60 18 74 &7 L —12 120 1200 40 400 4000
st4 51 52 9 90 900 5 50 500
4 1 _
0 8 6 6 300 1400 120 2000 60
2 7 24 42
7200 1000 3000 4200 66
—49 60 25 8 6 3
78 54 76 75 96
45 37 4 8 5 16
77 24 39 4 5 6 85 63 84 52 02
=2 30 5 40 87 10 30 70 100
48 41 49 7 30 50 50 60 90
40 5 45 9 23 22 12 11 44
76 56 7 12 34 32 13 21
.+ X X - - + X | = .= = < > = < <
X - X + < > > > < < =
= < > = < M2 250 80 8 80 12
AN24 3 5 10 38 54 0 90
IESPR
S P F 120 30 240 40 60 20
—59 76 550 400 780 520
L 160 40
20 100 350 770 430 290 |
LN + - + X + +
630 10 370 820 250 760

-_> > < < > < = - - " X

=8 207 159 189 494 195 Tk

. —8 3 2 6 40 2 80

6 80 86
2828 7 4 28 700 4
2800 28 2800 2828

F1W



N

—.1 2 3 4 312 2 3 4. mRGRE

() : ®
- ; Mk, = £E T & ? >) ;J ay’
=< < = < < < > >.e5 619 358 0 8 525 IF =5 RER LA v l 2] (&

= = < <> > < >igs 6o 214:17 1 | SEMNB (=)

< > : s 7
. HRM s 3> = < > < <
M .215%2 3x138 4x45 3x56

~¢
&

' —.189 75 12

964 208 355 345 MIEMK 4.128 : A
F.2550C  639J0  3807UC ! B B 46
. . ﬂﬂiiﬂli—ﬁiﬂ 5.3 4 : 32 1
7N\ 1222 444 555 18 24 : : :
| 66 84 84 104 72 76 75 6.12 !
26000 6 5994 9000 9 8991 : 4> <= > >
RN 5 252 342 198 336 234 7.16:05 s4
—8 3 9 15 6 0 11 =R —hr 8.119 6.80
2 5 1246 639 336 1268 1048 651 918 2 712:35
=56  21.02 534 536 771 748 561 2688 Saxo2x 3V dx sx o eV
= < > > < > < < thE sk ES 0 =B 2A 3C 4C 5B ' 014 16
< > < <=2 1608 1809 936 1545 1648 o ' =.1C 2C 3A 4C 5B 6B
M2 83 86 313137 ty;ms 1863 4020 3542 520 >< I =0V 2x 3x 4x 5V 6x
56 15 5 5
+ 540 1400 > e cPM.1.84 80 31 260 92 24
ﬁ\ : N . :
| HR ) , | 1.9 73 147
: 3.16x4=64(K)  (8+4)x2=24(K) :
+ 408 1476 832 2160  RIERK . 21047C 13570 644 1420 4056
: H.169 11 1800 34 60 34
A ! INET IR . . , 3232 9 504
7806003 52 8758 92 ' 2867 147G 952 3054 2280
34 19 74 47 07 12 :56JC 118JC  165JC  20.57C DL
! 3.193 495 22 ! ® 0 ©
48 9.1 1 280JC 45770 338J0 20.1JG o 2.(12+16)x2=56( 2 £ )
VT ; A 1(12418)55=6(1%) ; #1600
WU, . . . ' l\‘i ‘E & ' — 2
5 NEURL R 5 645x0%2=2580( £.) 5 (40+25)x2=130( /2K )
4.1 7T T T i , LA 24=21(2
N 4LJL 17670 2000 270L 3.064—188-236-198=342( %) : 75.1.(48+36)+4=21(21)
o (5500 14470 14770 897G 4.(1)95+8.7=18.2(7) . 219.5+12.9=32.4(1)
= )
heER 4624 9( 7 D 3.(1)12x6=72(7T)
746 802 696 625 669 930 ! (2)9.5-4.6=4.9(%.) !
180 757 648 645 . 16.5-7.7=8.8 22.6+56.8=79.4 535421x2=77( %) : (2)57x3+72=243(7T)
R ' 9.8+4.7=14.5 8.6-5.9=2.7 6.2x6=12(N),60-12=48(A),48:4=12( A) 1 4.(20+16)x2=72(% K )
84 484 437 200 134 199 ! R Pk B R o s.(1D315 477 192
196 244 223 131 1203 250 34 96  DEmE 11 17 5 (2)1000-792=208( &)




7.24

8.160

9.3
i V4 2. 3.x 4.x 5V
=.1B 2.B 3.C 4.B 5.C

m.1.
2 Mg

A 6+6+6=18( 2K )
(30+15)x2=90( & )

75.1.9 fif
2.14x4+6x2=68( X )

30 @ B
4 B
Pk B
60 JEK
i)k
F—x (BLEFRE—)
A|B|C|D|E
E|AIB|C|D
DIE|/A|B|C
C/DIE/AIB
BICIDE|A
BTk —dtoo &, A
£=% 2

gmx

é%’ﬁ?é C

HREE

P
L8 NI TSR
AT AR 17,57 17-8-1=8.

(& HBPT)

LEEX
()
é (9-7)x1+3=5
(943)51-7=5
- (749-1)23=5
| REEHL
R
: B
3308
: I3REK
éum@*
: CEEa
88

Z & o) @
izojﬁ
| B iEE
26 MHE 9 FUMEE

L= AR (—)

— % W 28

’ - ®
. S ERERT RN DI
EHZ=BE 2 1520 12
RAEE 612 3
11 7 1V/5 7.6
2 /NS HRI Y ik
3k K C 1A
AR AHHEE] ' 2.0 XA S
5.—IF 2/ Wi g 53w 90
- :
RERAE 431
1LIE  2)5 3. & 4k i 5.000
m5R :
: 6.> < < =
1.340,27
340,270 £ A H
2.360-50+300=610 :
112 1,3,5,7,8,10,12  4,6,9,11
3 K !
28 29
4.800 :
2K 181 365
5.1000 :
3.2 29 1 5
6.207 !
' 4.17
5B
5 M4BT 304r 14:15 A9 BF 504
1,500 3 1500 :
8:45
232 88 ;
i ‘ ' 6.15 45
3.20x6=120  30x4=120( &2 KB+ )
SN
420 3 20 3 23 ; AR
, Mk gk
5900 21 s00 80 44 210 | /DA EE
6.11 27t
Bk 3.0.3
1 —JA ' 4.0.1 1
2.(K+5)x2  HKx4 5.9 0.9
3.32 62 2 6
4.15 20 7.= > < = > >
F3M



1.x

1.V

1.x

1.x

1.x

1.x

1.x

1.C

1.A

1.C

1.B

1.A

1.C

| R8T i)l 2%

BEIEZH
2V 3x 4x 5V
BUk 271N
2x 3V 4NV 5x
5k
2x  3x  4x 5V
SRS
2.x 3.x 4.x 5V
ik
2V 3x 4x 5V
F.A.H
2x  3x 4NV 5V
TNRINEL

2.X 3.x 4.x 5V

13 T Il 2k

BEIEZH
2B 3B 4B
BUR2/10N
2B 3.C
m5R
2 3.C 4B
‘5K
2. 3.C  4A
A
2A 3B 4A
ik

2.A 3.A 4.C

* . A.BH

1B 2A 3.C 4C 5B

RN

1. 2B 3C 4B

1 AR T 1o 1| 2k

— N NE T

2.2
=.116 18
I 2.36 32
3.34 29
| 4.270 300
=N

' M.126 2522

2 A

L F1.3x8+2=26( R)

2.37-4x8=5(7T)
3.346+346+145=837(#%)
4.115+115-36=194(A)
5.65x2x2=260(#%)
6390 750 924

Rz A8 & Il 2k

' 1.5x7-28=7( &)
2.(57-45):4=3(4%)
' 3.(1)298+195+217=710( k)

(2)645-195-217=233( k)

4.(1)30x4=120(4A)

(2)32x3=96(A),96<120, A k%

47

HE ZERERN
5.400+5=80(A)
6.(23+25)x2=96(T)
7.100-48+-4=88( 4 )
8.(112-16)+3=32( T )
9.(16+4)x2=40( 2K )  40:4=10(2K)

10.68x3=204(#%),204<210, K%

11.(1)B%

(2)980x2=1960( )

2. PEEKM
(2)28.8+38.5=67.3(L)
(3)50-25.5=24.5(7T)

1300 E4F 11:30 2] R4 1:30 &0t 2 1

97x2=194(FK)

14.521+276+108=905(A)
15.12x5x3=180(T.)

16.(2+1)x2=6( k)
115x6=690( )
140x6=840(T.)
108x6=648(7T.)
130x6=780( L)

PR Ea(A), SEEMN(A) RN (BFRAT L,

HEREERWLIIZ

—.1.6 7 5 3 2

2.4 3

3.12 17

4.8 4

5> < = < > >

6.6
7.3.5
8.5
. 1x
=.1.A
M .1.60
920

3.520

i S A=
W

—. 14

3.12
4K
5.5
6.6

(B F) AR

4.2
31 3 30

2x  3x 4V 5sx 6V

2.A 3.C 4.C 5.C

200 96 80 30 1200

60 60 200 85 11

2.3558 2442 720

80 950 606 1055 158

F . 1.5x3+1=16(%")

2.14:40  15:30  16:20  16:30
17:30

3.(1)13.849.9=23.7(T)
(2)13.8-9.9=3.9(L)
4.309x2x2=1236( K )
5.(1)52+134+300=486( X )
(2)300+221+162=683( K )

112 JG [FEIERZE .4 JC

EhASYIREEE A

7

242 —JH

A N

4

&




